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A separate OMR Answer Sheet is supplied
for writing the answers. Write down your
Application Form No. & 11 digit Roll
Number on it as per your Admission Card
and darken the appropriate circles on the
answer sheet.

Check that Set Code (A, B, C or D) is printed
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OMR Answer Sheet.

Do not write anything in this Booklet except
the 11 digit Roll No. However you can use
the blank pages provided for the rough work
at the end of this Booklet.

Start answering when you are told to do so.
Do not turn the pages before that.

. 1 Answer all the questions. Each question has

four probable answers of which one is
correct. You have to choose the correct one
and blacken your choice in the OMR Answer
Sheet by a black/blue ball point pen. Use of
pencil is not allowed. If your choice is second
response then answer like this.
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For wrong answer, there is no deduction of
marks. One mark shall be awarded for each
correct response.

No mark will be awarded for a question
if a candidate darkens more than one
choice.

Return the Answer Sheet only to the
invigilator as soon as the final bell rings.
English version of the Question Paper will
be considered as final if any dispute arises
in the translated version. .

290 6aYel aiF 684 ZRTI OMR 084 |6
GEIIRE | 69860 S0 BHFR QIR SRS
oosIg O AR 8° VAR TR TS 691N ARG
ERE 99° ARG D09 AUOS 6olsREG A @6

. §F1 g9 93165 696 661§ (A, B, C @RI D) 6mell

28 @ AR QI8 QARY 9e° SFIN 696 6RIGER OFe
@ael aid (OMR) @9 Tden QUgS 60I6aaeq.
ol el

. 6AIR ARG Q410 BRY B8 1@ 9896 6o A

& 0 o o 608 Qe T aIfl aiTR |

. COEEEOSH GRIDE GRR (001G TIRA 68 6 qg’»q

g8l GFa BRe1 AF I

. QP9 ggR aea 2| ge64a 999 FIERIE SRR a8
| URIEeR | 696 6616 6268 OF aan | TR aaas

QI OMR RI6IR6Q 2@ 6RIERATH. |7l /al
@O QR FA Q. IQANE 607 NI
QogIRl 60REN MeRIe eBade e @@
QEA 20 FAA ETIERAE Fea Aaa 698 QI8
QIZI 6267 AR ARSI

@000

. 96648 OR a6 A @ ARG S2IE0 | QR 686

8 AR ad1de AfF|

. 61T g ael aF eaIf g 2y CAISRR QR

oa elRicesh 6ql6d FRa Gaude RiFI

. 6949 9§ QISQ 88 6999 OMR Qa9 QI

Geiseq @al

. GP2 AQRINER 6FOT SR QRN RITIR

Gead1g fdioe ¢IR uaude!

ASK FOR ANOTHER BOOKLET IF IT IS DEFECTIVE, BEFORE YOU START ANSWERING.
68ge 99al aRysh ORQ 6691 GOF PeRia B2




Directions for question number 1 to 2 : gq Q°%41 19 2 QI F6LAIR :

For each question, a word is presented in a code | 666 ggj66) I 0Q NeFOR QINER Ga/d
language. Follow the same code and find the answer | @EVEIRE6QF G/SIGE) GEoE PRI ( 7) PETEIRG -
from the alternatives to replace the question mark. | FldMg) &6 1@/

1. IfNUMBER: UNBMRE, then GHOST:(?) | 1, " @§ NUMBER : UNBMRE, 669

~ GHOST : (?)
(A) GHSOT (B) GHOTS (A) GHSOT (B) GHOTS
(C) HGSOT (D) HGOST (C) HGSOT (D) HGOST
2. I BEAT : EHDW, then ROAD : (7) 2. €@ BEAT : EHDW, 666@ ROAD : (?)
(A) SQCF (B) URDG (A) SQCF (B) URDG
(C) TQCF (D) URNG (C) TQCF (D) URNG
Directions for question number 3 to 6 : 99 64l 3Q 6 AR FETSIIR :

Fill in the place of the question mark from the | GGvg GREN CRTAUIRT AN Q8 Gl S
alternatives.

3. A4Z, D7W, ?, J19Q, M28N 3. AdZ, D7W, ?, J19Q, M28N
(A) E9U (B) Gl12T (A) EQU (B) G12T
(C) H125 (D) F11V (C) H128 (D) F11V
4.  ADbc, EHfg, ILjk, ? 4.  ADbc, EHfg, ILjk, ?
(A) LOmn (B) MPno ~ (A) LOmn " (B) MPno
(C) MNop (D) MPon (C) MNop (D) MPon
5. ZXU, XVS, 2, TRO 5. ZXU, XVS, 2, TRO
(A) VIQ (B) TRQ (A) VIQ - (B) TRQ
(C) VRQ (D) TVS (C) VRQ (D) TVS
6. 9,45,45,6.75, 135, ?, 101.25 6. 9,45, 45, 6.75,13.5, 7, 101.25
(A) 99.75 (B) 33.75 (A) 99.75 (B) 33.75
(C) 135 (D) 40.5 (C) 13.5 (D) 40.5
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7.  Arrange the given words in a meaningful
sequenct and find the correct sequence
from the given alternatives.

(1) Rain (2) Monsoon
(3) Rescue (4) Flood
(5) Shelter

A) 1., 6@, 6)
(B (). (2. (4). 6). (3)
© @, 1), (@), @), 65
(D) (), (1), (). @), (5)

Directions for question number 8 to 11:
Study the figure given below carefully and answer
the questions. . '

8.  What is the product of the numbers which
belong to two figures only ?
(A) 64 (B) 192
(C) 384 (D) 105

9.  If numbers in the circle represent women,
then how many women are there ?

() 20 . (B) 45
(© 28 (D) 33

10. What is the product of the numbers which

belong to three ﬁgﬁres only ?

(A) 27 (B) 162

(C) 648 (D) 54
D-4

Aq saqq 2dad arsa AR FRTAING
Flelg) 90R |FFq @1a |

(1) ed (2) seligmag
(3) QRIQ (4)  QFM

(5) ugags .

(A) (1) (2 (3) (4), (5)

(B) (1), (2 &), (), 3)

(€ @ (1) @) Q). O)

(D) @), (1), @2, 66

9q Qo 8Q 11 OIS GedaIR ¢
REI5R CEIIRYE F66y SR 78 Jideae a8
o/

10.

6GeR QT EGe 0EER @ LHYTAR
GEITR 6666 ?

(A) 64 (B) 192

(C) 384 (D) 105

06 QR FRNER &R TEMIGER FERIFING a6,
6660 AFRI 6REERE FIRRI 2IRG ?

(A) 20 (B) 45
(C) 28 (D) 33

6GQR G6RIT QUAGR 50 291 reNgEa

GEITR 6666 ?
(A 27 (B) 162
(C) 648 _ (D) 54
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11. What is the sum of the numbers which | 11. 6@eR GaF GYAEE Fe6a 2@ TR
belong to two geometrical figures only ? WG 6R6E 7
(A) 6 (B) 10 (A) 6 (B) 10
(C) 20 (D) 30 (C) 20 (D)} 30
Directions for question number 12 to 14 : 99 QeI 12Q 14 QIR TSR :
In each of the following questions, three statements | G66% Ggi56 91 6615’ Q6 96 ¥ 6616 e (1), (T1),
are given followed by four conclusions numbered (I), | (1), & (IV) GEIOIRG | QS50 OR 60U FGRGE,
(1), (I1) and (V). You have to take the given | GETAIRT AN GEEH IOHER I8/
statements to be true and then decide which of the ‘
given conclusions logically follow from the given
statements.
12, Statements : - |12, 9988 9w e 265 68 22 6078 206 |
Some tigers are lions. Some lions are - @R 60Q2 UG TG |
rabbits. Some rabbits are horses. .
Conclusion : dais: :
(I) ' Some tigers are horses () @ QK 6We PR
(I) Some rabbits are tigers (I) &8 602l QIe BeE |
(Il) Some horses are lions (I @& 6 L &G |
(IV) All horses are rabbits (IV) <964l 60Q2I Bgs |
(A) Al follow (A) < deie o |
(B) None follows (B) @F Jnie 0@ Ase!
(C) Only (T) and (1I) follow (C) &R ()6 () e Oal
(D) Only (I)and (IV) follow (D) 6@ew () 6 (IV) 9eie O
13. Statements : 13. Q8: 78 gRe F18I 266 | 29 FSIFIER ¢R 265 |
Some dogs are rats. All rats are trees. Some @R o8 Qae Qe I
trees are not dogs. '
Conclusion : daie:
() Some trees are dogs. ) &R oRqam eI
(I)  All dogs are trees. () 9989 98 268 |
(I} All rats are dogs . (1) <9 FAY Qg% BTE |
(IV) No tree is dog. (IV) 6l g8 gae sl
(A) None follows (A) &% a8 0a Rsd
(B) Only (I) follows (B) 6@eq (1) e O
(C) Only (I) and (1) follow (C) saer (I) 8 (II) 9816 O/
(D) Only (II) and (I11) follow (D) c@em (IT) @ (1) d8e Ok
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14.

15.

16.

Statements :
Some trains are roads. No road is jungle.
All flowers are jungles.

Conclusion :

(I) Some trains are flowers
(m
(1)
(1v)
(A) None follows

(B) Only (II) follows-
(€) Only (III) follows
(D) Only (IV) follows

Some trains are jungles
Some flowers are trains

No road is flower

Ma}ré starts at point “T", walks strait to
point ‘U’ which is 4 meters away. She turns

left at 90° and walks to “W’ which is

4 meters away turns 90° right and goes
3 meters to ‘P, turns 90° right and walks
1 meter to ‘QY’, turns left at 90° and goes to
‘W’ which is 1 meter away and once again
turns 90° right and goes to ‘R” which is
3 meter away. What is the distance
between ‘T and ‘R’ ?
(A) 4 meter

(C) 7 meter

5 meter

(B)
(D) 8 meter

A watch gains 5 seconds in 3 minutes and
was set right at 8 AM, What time will it
show at 10 PM on the same day ?

(A) 10:27:41PM
(B) 8:51:04 AM
(C) 9:45:15PM
(D) 10:23:20 PM

14.

15.

16.

o9 &8 60m Q191 266 6aSIA QIYl fErm Q6T |
9 RGEw Qe | '

Qais: -

() @8 coR IR 2ATSI
(I @ 60R AEN 866 |
(Il) @& IR 69K BT |
(IV) 6916R QI9 IR Q6|
(A) @B 3816 Om Red
(B) 6@em (1) 99is Ol
(C) 6aew (I0) 2aie O/
(D) 6aew (IV) 396 O]

FIG “T” YRGB @t Qi 4 Aee ‘U’ aele
GIRl | 69015) @IFIg 90° Qf 4 Figel ‘W’ i

IRl 6€I0Ig, 90° Qigiéig 9 ‘P aaTs 3 AeR

oIR8 B 121615 90° @R 17169 'Q adie IRt |
gél eloq 90° @A 1 Aeq V' aale aRil
6EISES §IRI61R, 90° @ 3 Aga ‘R’ adle Rl
“T' B8R’ FRIEE Q0161 6R66 ?

(A) 4fga !
(©) 7 fea

(B) 5fea
(D) 8 fgR

ol 3 66 5 69669 TRIAI FI5R <1
iR 89160 OF, FIK RRIGHI 698 &6 QIS
105169 FHITER 6@66 AFIRL 6RIRES ?

(A) 10: 27:{: 41 PM
(B) 8:51:04 AM
(C) 9:45:15PM

(Dy 10:23:20PM
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17. A clock is set right at 4 A.M. on Sunday.

18,

19.

20.

The clock loses 20 minutes in 24 hours.
What will be the correct time when the
clock indicates 3 A.M. on Wednesday ?

(A) 4 AM (B) 5AM

(C) 2AM (D) 4.30 AM

A child went 90m in the East to look for
his father, then he turned right and went
20m. After this he turned right and after
going 30m he reached to his uncle’s house.
His father was not there. From there he
went 100m to his north and met his father.
How far did he meet his father from the
'starh'ng point ?

(A) 80m (B) 100m

{C) 140m (D) 260m

If A% Bmeans A is to the southof B; A+B
means A is to the north of B; A% B means
A is to the east of B; A—~B means A is to
the west of B; then in P% Q+R~5,5isin
which direction with respect to Q ?

(A) South-West (B) South-East

(C) North-East (D) North-West

A clock is started at noon. By 10 minutes
past 5 PM on the same day, the hour hand

has turned through :
(A) 145° (B) 150°

© 155° (D) 160°

STM-1-2018-19

17.

18.

19.

20.

61T Wl 24 WLI6R 20 ARG TRZI QIEM
TR0 D6 6615 49166 WRITE Oa arRsa
QEITRI| 6560 QRIAIR 0 TQITER 6RIG 36

QIReR| COSIRGR, ORE TP 6860 6aIREe ?
(A) 4 AM (B) 5 AM

(C) 2AM (D) 4.30 AM

@661 TRl 61'Q QlTIq ssIRaIT 9F] 90AFa

£iel 690Ig) 2075'Q QIRIEIG. SRl | 6Q0Ig) Y&
FIRIEIG 30860 U aRIe AR UeE QI
aRR AT 62016 100A6D ARG AR FIBI],
FOCIRRI | 2R YAG) A6 OER GIR VITIT
6O 6aMI ?

(A) 80m (B) 100m

(C) 140m (D) 260m

g8 A x B2 AB Q G348 G966 Bede:
A +Ba8d A, BQGEQ TF60 296 A%B
@ 2d A, B9 9o G669 2ede: A=BQ 8
A, B o 6060 2096, 6669 P% Q+R -5
601, Q 6 6RE GTIE6 §Ee ?

(A) ofe-ofs (B)
(C) eae-ge

QB8

(D) aeec-a8a

OR FRMGES 4@ U SIRSI EIOR anl | 6280
QL 5 U9l 10800 A9 K4IT 6666 Gl
6@iél BEQF Roe ?

(A) 145° (B)
<)

150° -

155° (D) 160°



Directions for question number 21 to 24 :
Each of the questions below consists of a question
and two statements numbered (1) and (I1) given
below it. You have to decide whether the data
provided in the statements are sufficient to answer
the question by selecting from the following options.
(1)  (I) alone is sufficient while (II) alone is not
sufficient =
(2)  (II) alone is sufficient while (I) alone is not
sufficient
(3)  Either (I) or (II) is sufficient
(4) Neither (I) nor (II) is sufficient
21. A, B and C have money with them
respectively in the ratio of 5: 4 : 1 then,
how much money does B have ?
(I) A has ¥ 48 more than C.
(I) The money with B is ¥ 30 less

than A. _
(A) 1 ~(B) 2
(€ 3

{D) 4

22. Howis Xrelated to Y ?
() Y and Z are children of D who is

wife of X.
(IT) R's sister X is married to Y's father
{A} 1 B 2
(C) 3 (D) 4

23. How many doctors are practicing in' this
town ?
() There is one doctor per seven
hundred residents.
There are 16 wards with each ward
having as many doctors as the
number of wards.
(A) 1 (B) 2
© '3 (D) 4

(1

D-8

99 Q°al 21 Q 24 AIQ FELAISR :

PEEE E6Ye eSE QR G91e (1) G(1T) 601K afb/
50 CHARL 6Ky Polane G915 QA% 956
0850 907 Paeey oF/

(1) 6QeR (1) D628, @g 6aen (IT) 9628 Q6L
(2) 6QeW (IN) 62Y, GG 6AIF (1) H6eS RSY

(3) (D@ (1) 6099 eS|

(4) () @ (I1) 698 D628 Q6L

21. A, BBC S a6 ol SRR SRHIS DAUR6A
5:4:1. 666 B QISKR 6066 61 28 ?

(I) A Q6EQ C OI6) 48 0 RS 2R |
(Il) B AGER A 0I6) 30 69 @F| 2@ |

(A) 1 (B) 2
c 3 (D) 4

22, X QY 996 e qdl?
) YGBZDQTAAGTEDXQAANEWE!

() RIANRSIX, Y QAR IR @55 |
(A) 1 (B) 2
€ 3 (D) 4

23. QLOLER 6REERE BN GIF GERE ?

() <QRAFTEH 700 6RIGR U6l GEE GIDR
Pea |

QJeOTEE! 16 ITTR 8 AT eN 606F
g6 aE6n 695F 76 696 288 |

(1

(A) 1
©) 3

(B) 2
(D) 4
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24. Among T.V.B.E and C, who is the third
from the top when arranged in the
descending order of their weights 7

(I)  Bis heavier than T and C and is less
heavy than V who is not the

heaviest.
(I) Cis heavier than only T.
(A) 1 B 2
(C) 3 (D) 4

Directions for question number 25 to 28 :

For each question, a word is presented in a code
language. Follow the same code and find the answer
from the alternatives.

25, If FRIEND is coded as HUMJTK, how is
CANDLE written in that code ?

(A) EDRIRL
(C) ESJFME

(B) DCQHQK
(D) DEQJQM

26. In a certain code, ‘247 means “spread red
carpet’; ‘256" means “dust one carpet’ and
‘234" means ‘one red carpet’. Which digit
in that code means “dust” ?
(A) 2 (B) 3
€ 5 D) 6

27. I ROSE is coded as 6821. CHAIR is coded
as 73456 and PREACH is coded as 961473,
what will be the code for SEARCH ?

(A) 246173 (B) 214673
(C) 214763 (D) 216473

STM-I-2018-19

24. T.V.BEGC < 697I0e 6ar 2R6A 2Ta6)
@F @F60 ARIFPER, G616 YRea @ AR 7

() B@G&e T4 C Ol ala g V O,
Q|| V 2192 Olg) 280 BeR [SE |

() C6aeR T 0Ig) 206 BRR |
(A) 1 (B) 2
© 3 (D) 4

gq oI 25 Q 28 QIR FERART :

G666 gaea 98 99q J6@Ee QINIER Geld
POLEIRE | 69F QIBISE CRFARNG A 800 ARG
o6/ : '

25. @@ FRIEND § <°6@666 HUMJTK 6QIf
EREINY, 666Q 6CR T6RE6A CANDLE § @61

sRGIAR ?
(A) EDRIRL (B) DCQHQK
(C) ESJFME (D) DEQJQM

26. R ACIOR QUBIEH ‘247 9 8 ‘spread red
carpet; ‘256’ 6 81¢] ‘dust one carpet’ (§ ‘234’
@ @8 ‘one red carpet’. 698 QUBIER 6QE
e 2 ‘dust ?
(A) 2
© 35

B 3
(D) 6

27. @ T6aE66 ROSE § 6821, CHAIR 73456
(8 PREACH € 961473 6@ 6RSICI, 666
66 Cre@EEt SEARCH @ Q6T smstde ?

(A) 246173 (B) 214673
(C) 214763 (D) 216473

D-9



28.

In a certain coding language, if GO =32
& SHE =49 then SOME will be equal to ?

(A) 56 (B) 58

(C) 62 (D) 64

Directions for question number 29 tc 30 :

Select the number from the alternatives to fill up the
question mark(?) in the number series.

29,

30.

31.

7,9, 8,6,10,9,5, 11, 10, 2, 12
(A) 5 (B) 11
© 29 (D) 4
1,3.2,63,11,4,18,5,7

(A) 27 ' (B) 11
(C) 23 (D) 29

In the adjoining figure, if the centers of all
the circles are joined by horizontal and
vertical lines, then find the number of
squares that can be formed.

® 7

O 1

28.

46 A6FCR RIS, €0 GO =32 G SHE=49

6669 692 QITIER SOME = 6R66 689 ?
(A) 56 (B) 58

(C) 62 (D) 64

gq Qa4 29 @ 30 QIR FERANSR :

geee JIRse O0F ARG 908 ST g/

29,

30.

3.

7.9, 8 6,10, 9, 5,11, 10, 7, 12
(A) 5 (B) 11
C) 29 D) 4

1,3,2, 63 11, 4,18, 5, ?

(A) 27 (B 11
(C) 23 (D) 29
76 60 TISITIR 98 JPR0 SREPFING BRI

@ @ BIRHAa AR FIRSIRI AFIRAEE
rEAIT A6M 67 TEE4 6REEIT eEER QgR
SIS @6 ¢t

(A) 6 (B) 7

€ 8 D) 1
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32.

33.

34.

Based on the given positions of the dice
find the number of dots on the face opposite
to the face with one dot.

O @ i)
) 2 ® 3
€ 4

(D) 6

Count the number of triangles and squares
in the given figure.

AN

(A) 26 triangles, 5 squares

(B) 28 triangles, 5 squares
(C) 26 triangles, 6 squares

(D) 28 triangles, 6 squares

Based on the given positions of the dice
find out which number is opposite to 3.

A

(A) 1 6

(C) 5 (D) 4

STM-1-2018-19

32.

33.

| RESSINa eIl ZRgRR] SeIRRE 651EN

580 TG0 DU T6T 6R6EIT IR 2R fda
@al

P8

(i) (i) (iii)
(A) 2 (B) 3
© 4 (D) 6

Q2 QIR 8I6H BYR G CLRE <6 S8Rl
aa

s

(A) 26898, 50688
(B) 288QF, 59688
(C) 26 GGW, 6 PERF
(D) 28 Q9% 6 PGER

RESSIFG GRIIRdel Begdeq FIaE 36
FTeIe T6% a6 e 28 Ada qall

Y &

A) 1 (B) 6
© 3



35. How many parallelograms are there in the
following figure ?

[

(A) 12 (B) 20

(C) 29 (D) 30

36. Based on the given positions of the dice
find out which number is opposite to 2.

(i) (i) (i)
(A) 6 B 5
€ 3 (D) 1
Directions for question number 37 to 38 :

Fill in the blanks in the letter series.

37. xy_z_xxyx_px_yxzpx_yxzpx
(A) xpzxx (B) yxyzx
(€ yxzpx D) zyxpy
38. aab_aa_bbb_aaa_bbba
(A) abba (B) baab
(C) aaab (D) abab
D-12

35. GF) 5060 606010 ANtecSe 88 ?

[

(A) 12 (B) 20

(C) 29 (D) 30

36. QEEAITS CaUARAN ARYYPT TCIRRG 26,
YU T6C 606 oM 28 Ada el

Qg Q°%Yl 37 Q 38 AN F6RENR1 :

TeHRASE 6 ggR g6g gReT @8
37, xy_z_xxyx_px_yxzpx_yxzpx
{A) xpzaxx (B) yxyzx
© yxzpx (D) zyxpy
38. aab_aa_bbb_aaa_bbba
(A) abba (B) baab
(C) aaab (D) abab

STM-1-2018-19



Directions for question number 39 to 42 :

Each bf these questions is based on the information
given : 8 person E, F, G, H, I, |, K and L are seated
around a square table - two on each side. There are
3 ladies who are not seated next to each other. | is
between L and F. G is between | and F. H, a lady
member is second to the left of |. F, a male member
is seated opposite to E, a lady member. There is a
lady member befween F and I.

39. What is true about ] and K ?
(A)
(B) Jis female, K is male
()
(D)

] is male, K is female

Both are female
Both are male

40. Who among the following are three lady

members ?
(A) E,Hand] (B) E, Fand G
(C) EHandG (D) CHand] .

41. Who among the following is to the
immediate left of F ?

(A) G
(€ ]

®) I
(D) H

42. How many persons are seated between K

and F ?

(A) 1 (B) 2

<€ 3 (D) 4
5TM-1-2018-19

g4 QeI 39 Q 42 QIS FEREISR -

g664% g 7] LoRlgles Q5 SR [E, F, G, H,
L] K GL PIF18 @61 040 I& @6Ta)e) 6596 g56%
056" 9 @61 6meIN @G85 | COFIRT FNGR3 661 ABR)
OReR ARt 09 RIEIF] ], L GF @ AFs 03851
G, 1 BF & A1560 965 H, 667 @661 Flem) | &8
PIFIEEE (679 QR6R @985 IF, 666 7661 908 69E
RIFIR FIERISE PO 060 @085 | F B1 & AMER
w6eT AR OGE5 /

39, JOK % GHA6R 606 080 ey ?
(A)
(B) JeEmlEBKgas

] 08 8 K £a1

(C) GG FERI
(D) GRS

40. 6IARG FRNSE SRR FER 6REFIEE ?

(A) E,HG8J (B) EFBG

(C) EHBG (Dy CHEGJ

41. 6669 ‘F @6 0] QIF9ee @4 °285 7

(A) | G (B I

(€ ] (D) H

42. KBF @ P60 606006 9065 7

(A) 1 (B) 2

© 3 (D) 4



Directions for question number 43 to 47 :

Which alternative will replace the question mark ?

(B) 2
(D) 6

44,

g4 QI 43 § 47 QI FELANR :
g9Pg gieasan daed ade?

NG5

(a) 3

) @ @ 6 @ 09
(63) (37 @)
® (9 @
(A) 5 (B) 6
(C) 8 (D) 9
(40 40 (40
45. (25(33|35) (35]27|25) (45]?]60)
¢ ¥ W
(A) 36 (B) 32
(C) 30 (D) 60
46.
T S
W7 | 5P
] 10 7 P
T [
(A) 5 (B) 9
<€ 1 (D) 13
D-14

(B) 2
C 7 (D) 6
“ DO R @ ®
G @
@ ©
(B) 6
(D) 9
40 0) (40)
45. (2533]35) (3527|25) (45]|7]60)
g ¥
(A) 36 (B) 32
(C) 30 (D) 60
46, T .
w>5 |15 0D
] 10. ? P
i G
(A) 5 (B) ¢
©) 11 (D) . 13
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ABYAR

(67

47,

(A) 38
(© 52

ale/

? 10

(B)
(D)

44
40

I s

48. If 4+’ means ‘X’, ‘X’ means ‘="', ‘%

means

'} r
+7,

* means ‘+’, then

175-25 + 5+20x3+10=7

(A 77 (B) 160
(C) 240 (D} 2370

49. If '+’ means ‘+’, “+" means ‘=", "=’
means ‘x’, means '+, then
1246+3-2x8=7
(A) -2 (B 2
(€ 4 (D) 8

(2] (a]5\ (6]

(A) 38 (B) 44
(C) 52 (D) 40

48. 9@+ Q8 ‘', x a8l -, =

Qe

‘4, =" qad T84 BR6e 175-25 +

5+420x3+10=7

(A) 77 160

(B)

(C) 240 (D) 2370

49, 9B+ Qwd = qud -, —

‘x, ‘x @ ozl 4, 29
12+6+3-2x8=7?
(A)

-2 (B) 2

(©) 4 D) 8

" Q1 2lel
§669,

Directions for question number 50 to 51 :
L

Choose the alternative which closely resembles the

94§ Qo8I 50 9 51 QIR FeaaleR :
PREAIRR FAMG) 6560 G DIRGS! TEAREG!

water-image of the given combination. Gﬁﬁ? 223
50. VAYUB436 50. VAYUB436
(A)  AVANGRES (B) AvANS¥3e (A)  AVANSAES (B) AVANg3e
(C)  AVANSH39 (D)  AvAnstee (C©)  AVANS¥39 (D)  AvAngtee
51. ACOUSTIC 51. ACOUSTIC
(A) wvoonsuc (B} wvconzaLc (A) voonsuc (B} wconelc
(€©) wconsuc (D) vconeTic (©) wconsuc (D) wconeTic
STM-1-2018-19 D-13



Directions for queshcm number 52 to 53 :

Find out from the four alternatives as to how the
pattern would appear when the transparent sheet is
Jolded at the dotted line.

) K
W 9 o
53. 1
B I R C T

" Directions for question number 54 to 56 :

Ini each of the questions, there are some words
translated from an artificial language. Study them
and answer the attached question. o

54. aptaose means first base; eﬁtaase_' means
second base; lartabuk means ballpark.
Which word could mean “baseball” ?

(A) (B) oselarta
(€ (D)

buklarta

bukose ‘oseepta

55.  Plekapaki means fruitcake; pakishillen means

cakewalk; treftalan means butfen:up
‘Which word could me&an cupmke”

(A) shillenalan - (B) treftpleka
(C) pakitreft (D) alanpaki
D-16

Q4 Q8 529 53 QIR TR :
U RIIRER CEIRAR FEFR PLPEE JIR6R GISasR
666 6660 PRFEIRT FRNG 698 £0Fq o8/

K

@ O o
{ 53.

) m-m(B]' ______ © o™

gq Q8l 54 @ 56 QIR FERAIVR :
FE6MR b6l a8 mwﬂmﬁmm@m;

| veig oneir 0d a5aRe gga een d8l

54. aptaose 9 EI&T first base; eptaose@ 8¢l second
base; lartabuk § ®él ballpark. 6669 6RG

129 2] “baseball”?
" (A) buklarta (B) oselarta
(D). oseepta

(C) bukose

55. Plekapaki @ 2] fruitcake; pakishillen Q. ®i¢]
cakewalk; treftalan Q1 ®e] buttercup.Qt 666

6Q6l 6199 2 “cupcake”?
(A) shillenalan (B) treftpleka
{C) pakitreft (D) alanpaki

STM-1-2018-19



56. krékinb!uf means work force; dritakrekin
means goundwork; krekinalti means
workplace.

Which word could mean “someplace”?
(A) moropalti (B)  krekindrita
(C) altiblaf (D) dritaalti

Uil‘ECﬁOl‘.flgl_i for question number 57 to 59 :

All the opposite faces of a big cube are colored with
red, black and green. After that it is cut into 64 small
equal cubes. then..... ' '

57. How many small cubes are there whose
no faces are coloured ?

(A) 0 (B) 8
(€) 16 (D) 4

- 58. ~How many small cubes are there whose 3
faces are coloured ?

(A) 24 (B) 4

© 16

(D) 8

59. 'How many small cubes are there where
one face is green and other one is either

black or red ?
" (A) 28 (B) 8
(D) 24

©) 16

. STM-1-2018-19

56. krekinblaf @ 28] work force; dritakrekin
¢l goundwork; krekinalti means workplace

5660 6@a 6129 8d “someplace”?
(A) moropalti
©

(B) krekindrita
altiblaf (D} dritaaltd
g4 @°eiyl 57 § 59 QIR FEREIR :

96 00 P Pan aIgee AR ARl 6 990 A

GEIRIRY ] 6Y 066 ey QAR 6467 IR O @8 EeleiR)

SB%E....
57. 6661 AGTRS 616 aif adfe AL ?

(A) 0 ® 8
€) 16 (D) 4

58. 6@6RIT IRTA @Gﬁ’iﬁ‘ ol et QBQ ?

(A) 24 (B) 4

© 16

(D) 8

59. 6@66I0 ARURG 601 TIF] IR I9° EIRY I
A KR FA FIR 629 ?

(A) 28 (B) 8

€ 16



Directions for question number 60 to 61 :

To which of the cubes in the alternatives can the
figure (X) result when folded ?

60.
=2
[mm]
‘ G @ 8
(A) (B) D)
61. In which of the cubes can the figure (X)
result, when folded?
(F)
(A)] (E)
® |
(© |(D)
' (X)
(A) (B)
© (D)
52, In a certain code 2x3=56, 5x6=1130,
8x9=1772, then 4x1=?
(A) 54 (B) 45
(C) 55 (D) 44
D-18

gq QY 60 Q 61 QIR FeTANSR :

(X) P05R VITAR CRTAIRT AN 605" IREEP
669 ?

60, [
=1
mﬂ
‘ \Z @ 5
(A) (B) D)
61. mmmlmmmmmmgﬂdm
a0es 60 ?
(F)
(A)| (E)
(B)
© |©)

&

62. €& 2x3=56,5x6=1130, 8x9=1772, g4,

666@ 4x1=7?
(A) 54 (B) 45
(C) 55 (D) 44
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In a certain code ‘LATE’ is written as
‘Gu#@ and ‘'WIDE” is written as “©aA@’,
Then how ‘DIAL" will be coded?

(A). A@#$ (B) A@%$

© AG%$ (D) A©%#

In a certain code language “Always

Create New Ideas’ is written as “ba ri sha

gi’. ‘Ideas and New Thought’ is written as
‘fa gi na ri’. ‘Create Thought and Insight’

is written as ki ri la fa’.

What is the code for IDEAS ?

(A) sha

© g

(Bj ba

(D) na

In a family, the father took 1/4 of the cake
and he had 3 times as much as each of the
other members had. What is the total
number of member in the family ?

(A) 3 B) 7

(© 10 (D) 12

If ‘SCOTLAND' is written as ‘1 2343678’
LOAN is written as ‘8124" and DAN is
written as ‘537, then what will be the
code _fur e
(A) 6 (B) 9

(€ 5 (D) 4

STM-I-2018-19

63.

64.

Q& 9@ EFER NVWER ‘LATE" § $%#@
ERGITN ‘WIDE S, “*©A@. SREIAI 666@
‘DIAL’ q 615 smelde |

(A). A@#$ (B) A@%$

(C) A©®%$ (D) A©@%#

9@ AERXER@ QUNES “ Always Create New
Ideas’ @ ‘ba ri sha gi’ 6QIR 6MEIM] Ideas

" and New thought @ ‘fa gi na ri’ 6QIf

65.

66.

l'\

EmEiIIG| ‘Create Thought and Insight’ §
“kirilafa’ 691 6melald | 698 QseEa SIFIER

IDEAS @ @) 6msiees |
(A) sha (B) ba
© g (D) na

691I5H TRIRIEE QITl 661 6RaR 1/4  &Fdl
SIosm | QIT SIREel 66K SRTIOR SE6UR A0
SIR2G 68RE 3 g6 666@ TRRIGG SRIADEH
6666 ?

(A) 3 (B 7

() 10 (D) 12

98 ‘SCOTLAND’ § ‘12345678’ 69IR
6REITIN LOAN @ ‘8124’ 61 Smegid @
DAN § ‘537’ 60If 6RSIEIN 6860 ‘C’ G @l

Emel 689 7
(A) 6 (B) 9

(C) 5 (D) 4



Directions for question number 67 to 69 : g9 U4l 67 § 69 AR FELANIR1 :

OR PEE6R 7 GEIE GIAR PRGN ERAE 8
COQRTER G6 61T QIGLY DI E6RTeY SRIGEE
G696 CAARE | eig SReMRP @0 Gigias aee

Study the following pie-chart relating to the
proportion of population of seven villages and the
table relating to % of people below poverty line in

each village. Answer the following' questions. &/
Village % pﬂpulal:iun‘ below Village % pc:-pulationl below
poverty line poverty line
X 38 X 38
b 22 Y 52
Z 42 Z 42
R 51 R 51
5 49 S 49
i i 46 T 46
Vv 58 v 58

67. If the population of village R is 32000, then

what will be the population of village Y
below poverty line ?

(A) 15600
(C) 14200

67. <G'R PFI06RIQT M 32000, 6662 "Y' FIFER
GIEY DIFIEE% C6REIQ| SRIGER M 6060 ?

(B) 16500

(D) 18000

(A)
(©)

15600 16500

(B)

14200 (D) 18000

68.

The ratio of population of village T below
poverty line to that of village 7 below

poverty line

(A) 11:21 (B) 23:21
(C) 23:11 (D) 11:13
D-20

68.

‘T @2’ QIFEQ QIGEY QKIERE S6RER

SRIGIR FINER BINTIS 6666 ? °
(A) 11:21 (B) 23:21
€ 23:11 (D) 11:13

STM-I-2018-19



69. Find the population of village S if the
population of village X below poverty line

is 12160.
(A) 18500 (B) 20500
(C) 22000 (D) 26000

Directions for question number 70 to 71 :

Select the figure which satféﬁes the same conditions
of placement of the dots as in Figure-(X).

70.

(A) (B) (©) (D)

(X)

A @ © O

STM-1-2018-19

69. K& ‘X gF1e e SFlead eeRfal sRlae
el 12160 89 6668 'S’ QIFIS SRIGA°SNI

6966 7
(A) 18500 (B) 20500
(C) 22000 (D) 26000

a9 Yl 70 Q 71 UG FERSNIR

Fe (X) 68 PREIEFA 696 ZegIR AEE PaFrlre
FRIYG 606 PEFER PREPRA QIR eGP alel

QoeIgQDE ?

70.

)

& ape

(A) (B) © (D)

"
R @&

@) ® © O




Directions for question number 72 to 73 :

Select the alternative which represents three out of
the five alternative figures which when fitted into
each other would form a complete square.

2 AN Do N
m @ @ @ (5
A @2 @ (B) (3). (4). (5

© @ @2 03 (D) (1), 3). (3)

ANV

@ O
(A) ), @, 6 (B) (1) 4. (5)

@ @ B) G (D) (@), () @

74. On dividing a number by 5, we get 3 as
remainder. What will the remainder when
the square of the number is divide by 5 ?

(A) 0 (B) 1
© 2 (D) 4
D-22

AN PPAVIR

g4 Q°6141 72 9 73 QIR FERAIRT =

G66% G665 6616 00T NG 666 G616 PRTg
67 0 Q61688 6107 @ardls aIge, 6a66 olg

» AN Do A
v @ e @ 6

(A) MW@ - B @ @6

© w6 ©® 060

@ 6
(A) (1) ), @) (B) (1), (4). O)

(© (@) 63) 6 (D) (1), (2. @)

74, 6@ TEHG 5 QIR AIGR6R 3 QUGEAS Q62 | 62T
TR 96l 5 QG NTIRER 660 RUGIEES
QEer - . ' :

(A) 0 (B) 1
(©) 2 (D) 4
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Directions for question number 75 to 77 :

Look carefully at the sequence of symbols to find the
pattern. Select correct pattern.

75. OB 1PREBIE?S

20 BO OB 8D
(A) ®) © (D)

76. (oo |en ]| (e

@ e ® =
© Il O ]

7. RAINCOIO@AIR »
R a8 8 8

(A) (B) © (D)

78. If 6" March, 2005 is Monday, what was
the day of the week on 6" March, 2004 ?

(A) Sunday (B} Saturday

(C) Tuesday - (D) Wednesday

79. The product of two numbers is 120 and
the sum of their squares is 289, The sum of
the number is:

(A) 20 (B) 23
(© 169 (D) 100

STM-1-2018-19

gq 2°aY1 75§ 77 AIQ LSRN :
PENERR GEREYR SRIFGE GE0R IR OaT 616/

5. OB 1PRODIE?T®

20 B OB 8D
(A) ®) © (D)

76. (s |en ]| {2

@ e ®) =3
© {1 0 <]

7. QA OAIR 2

R 8 8 8
®w ® © o

78. @ 2005 AdLIQ AIF 6018 6NN F9,
6669 2004 ATLIQ AIF 6 TR 608 AR

629 ?
(A) QFQIQ (B) d6IQ
(C) AGIeIQ

(D) QLI

79. QEE AR GITH 120 G 6AAIFRA QTR
QNG 289, QoI QTR UG 6208 -

(A) 20 (B) 23
(C) 169 (D) 100



Directions for question number 80 to 82 :

There is a definite relationship between figures A
and B. Establish a similar relationship between
figures C and D by selecting a suitable figure from
the alternatives that would replace the question

Q@ QUeMI 80 @ 82 QI FELEINRT :
A 6 B 06 FRAGE 06 POR 9RG EE| C @ D FINGH

mark.
80.
INESIERE
@ ® © O
Cp || nD || v || GV
&) @) ®  ©
@1 (B 2 (© 3 (D 4
B1.
= ({ ?
//:l
w ® © O
UL I
e ® @
(A) 1 (B 2 (C) 3 (D) 4
82.
@@ -
@ ® © O
(1) (2) (3) 4)
@ 1 (B 2 (© 3 @ 4
D-24

QIR N OGS PaTER R5E gRale a6/
80.
k|| G| 2
(A) (B) (@) (D)
Cp || D || v || GV
(1) (2) (3) (4)
(A) 1 (B_) 2 C) 3 (D) 4
81.
=/ ‘{ ,
S '
@ ® © D
AU
(11. (2) (3) (4)
(A) 1 (B) 2 (C) 3 (D) 4
82.
@@ &
(A) (B) <€ (D
(1) (2) (3) (4)
(A). 1 [B) 2 {C} 3 (D) 4
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Directions for question number 83 to 85 : g4 Q°eivl 83 Q 85 AIN FELAIR :
Find out which of the answer figure completes the | PR 08 AR/ 66T 08 AIRSITY &°0d K50 7

figure matrix ?

83. 83.

_}{_

8%
SEIE
_§L
<[
SRR

84. @ ® 84, @

@ ® © o @ ® © O
85. ﬁ i _Q_ 85. ﬁ’ i _Q_

&I 0 &I 0

g & g%

AREIREIRE ARFIREIRE:

® ® © O ® ® © O

STM-1-2018-19 D-



Directions for question number 86 to 88 :

Identify the figure from the alternatives that
completes the pattern,

86.
?
(X)
(A) + (B) © (D
87. ' '
@ 5
rE
/] P
4
AN
<
2
™ |
/
@ ™ & &
(&) (B) (€ (D)
88.
?
(X}

(A) ®  © (D)

Qg Qi 86 Q 88 QIR FEAENRRT :

666 PaTE baey 9°9d e 61 Bge 78/
86.
e
)
(A) (B) © O
87. |
@ 9
PR
4 N
4
N
N
K
X .
/
I |\ | |
-
@ & &
(A) (B) © (D)
| 88.
?
(X)
(A) ® (© (D)

STM-I1-2018-19



Directions for question number 89 to 91 :

Which alternative will replace the question mark ?

91.

12—@-15 12{1'?-25 11@-23
5 20 16
(A) 11 (B) 14
{©) 10 (D) 12
T T D
£ ARy AR
(A) 35 (B) 37
(©) 45 D) 47
3 6 9
27 56 81
(A) 45 (B) 41
(C) 32 (D) 40

STM-1-2018-19

g4l Q°814l 89 Q 91 AN FELANR :

666 06FY gEoy JRg T661 @016 2
10 16 15
89 12—@-15 12{1'19-25 11@-23
9 20 16
(A) 11 (B) 14
(©) 10 (D) 12
90.

T T K
A2 B2 AR

(A) 35 (B) 37
(€) 45 (D) 47
é 15 ) | ?
27 \ 56 \ 81
(A) 45 (B) 41
(€ 32 (D) 40



Directions for question number 92 to 94 :

Answer the questions by using the following
diagram.

92.

93,

94,

(A) M

M *— School student

+—— Actress

S l———Singer

Which of the following represents those
school students who are actress but not

singer ?
(B) N

© o D) R

Which of the following represents those
actresses v_.rhl:} are neither singer nor school
students ? ' '
@ N  ® P
< Q (D) R

Which of the following represents those
school students who are singer but not

actress?
(A) M (B) N
© o

(D) P

D-28

& QeI 92 Q 94 AIR FELANIRT :
I

R C68 BRANE B8l eaeae age o8/
M “«— School studen
£ .
PlO|N «——— Actress
Q
S | «————Singer
92. 604 08%% CIdAI FELIR BRERES] o g Rl |

93,

94,

g7

® N

(D) R

(A) M

© o©

6Rd G0 QPN 62 6IFIGH 679R BAEAE:
SIdGI 68 @ Blg AEG ?

(A) N
© Q

60d 5aTF 914 691 62FIER 818 8 GIARI
@q 26Re1 Qda ?

(A) 'M B N

(© 'O (D) P

5TM-1-2018-19
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Directions for question number 95 to 97 :

Study the following diagram and answer the given
questions.

95.

96.

97.

% 9

I:' Disciplined

How many girls are both athletic and
disciplined ?

(A) © ® 3

(€) 8 (D) 2

How many boys are neither athletic nor
disciplined ?
(A) 10 (B) ®
<) 3 (D) 2
oy

How many boys are both athletic and
disciplined ?
Ay 1 B 2

©) 6 (D) 10

5TM-1-2018-19

g9 Q°siYl 95 Q 97 QIR FEXANIR :

F¥] 58 ERAHR 76 Jiiae aae o8

95.

96.

97.

10 & Girls
6 7
'\ [ Jeoys
3 >2© 9 | () Athietic
8 I:I Disciplined

ERECRE €2 A0S, 661RIM G §&rRe ?

(A) 0 (B 3
© 8 (D) 2

6RE6@E! G2 68NN QLB @ €aae @ RLE ?

(A) 10 (B) 6

©) 3

ERECRE! g8 GRS 6SIRIA1 8 EefRe ?

(a) 1 (B) 2

(C) 6 (D) 10



Directions for question number 98 to 100 : g4q a°eil %Q;lﬂﬂ Qi ﬁGﬁﬂlG"i"‘l :

Choose the alternative which resembles the mirror | P TCEIRR GPaR CIEIPE TREFIRS FANG) 18/
image of the given combination.

98. 247596 98. . 247596
(A) 695742 (B) eaavas (A) 695742 (B) eaavis
(C) gpvaed (D) aeavhs (C) - spvced (D) aeavas
99. ANS43Q12 99, ANS43Q12

(A) AMZSREOrS  (B) SHMOEBR2UA (A) AM2pEOrS  (B) SIOEM2MA

100. UTZFY6EKH 100. UTZFYEKH

A B - -
(A) HigEs.A (B) NISIAOKH (A) HK9Y4SIN  (B) NLSIA9KH

5 | .
(©) HKaAESLN (D) HMBYASTU (C) HKBAESIN (D) HMBYASTU

'000' -{}Ol::l‘
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